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In the Name of Allah, the Most Gracious, the Most Merciful

Paper Pattern

MCQS 40 each 1 mark

Short 4 each 2 marks
Short 4 each 3 marks
long 4 each 5 marks

Cuestion No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)
.Tfan error related to requirements 15 idennfied m testing phase, so this error will be considered as an error m phase
[ ] L ]
e P g ot age) WWW.VirtualAcademylLive.com
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F YNade by: YWaqar Siddhe

CQuestion No : 2 of 52 Marks: 1 {Budgeted Time 1 Min)

Defect Bemoval Eficiency can be mereased by

L] L]
Answer | Please select your correct option ) WWW- Vl rtua IACHdem v Ll VE. COITI
By mereasing the Lﬁkuﬁrsﬁﬂ i1 .:Iﬁa:n )
e
##—_
Identifying the defect i early stages of development so that  may not be amplfied >
-

Identifymg the detect in the later stages of project

By perdformuing the teshng actviby only
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Cuestion No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

While developing the software if the bug 1z caught then it 13 termed as

AngeerTPTEEeS Miowagour comect opton WWW.VirtualAcademylLive.com

& Emror )
Deefect
P
Fault
ps
Mastake
YNade by: YYaqar Siddhu
Question No : 4 of 52 Marks: 1 {Budgeted Time 1 Min)

When a software 15 debivered to a chent and then chent reports the bug moof then that bug s termed as

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Error

.

Diefect >

Whstake

Fault
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Question No : 5 of 52 Marks: 1 {Budgeted Time 1 Min)

MTTE 12 the abbrewaton of

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Meoderate tme to falure

Mean tme to forward

Mean tme to falure

Median tme to Falure

® | Mottt e YNade by: YWaqar Siddhe
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Question No : & of 52

Marks: 1 {Budgeted Time 1 Min)

Software Avalability can be calculated by the following equahon

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Avallabibty = (MTTRMMTTE) x 100

Avalabity = (MTEF/MMTTE) = 100

—

Availability = (MTTE/MTBF) % 100 )
H—._

Avalability = (MIBFMTTF) = 100

YNade by: YWaqar Siddhe

Cuestion Ne : T of 52

Marks: 1 (Budgeted Time 1 Min)

The projects are classified mto following categones except

Answer | Please select your cormrect option )

WWW.VirtualAcademylLive.com

Concept development projects
C

MNew appleaton development

Eeengneenng projects

i

p—__ -
< Marketing Development Projects )
h-__
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Cuestion Ne : 8 of 52

Marks: 1 (Budgeted Time 1 Min)

Any delay m path makes the whole project delayed

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Critical

Physical

Logical

Heural
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Cuestion No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

The —==--=mommmemme- system prowides a commeon value scale for every software task, regardless of the type of work bemg performed

T e ———— WWW.VirtualAcademyLive.com

SCM

C

All of the grven

T ) [m“de bu: WQC'“I' \S‘id‘""l

Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

Eewew 15 a type of that helps preventing the bugs to move in the next stage of soffware development

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Bug seeding tool

e

Mone of the given

’ YNade by: Yy/aqar Siddhu

Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

Quality has a deect and mdirect costin the form of cost of

WWW.VirtualAcademylLive.com

Prevenhon, appraisal, and failure
T

Peaple, process, and product

Custemers, developers, and mamtenance

Al of the gven ophons
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Cuestion Mo : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

A 15 & unique user recognizable, non-repeated field

T WWW.VirtualAcademyLive.com

ERecord Element Type

Drata Element Type ’

External Input

External Query

r YNade by: YWaqar Siddhe

Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

In measurng Software Process Quality by using control charts, f the gap between the defects reported and defects Bxed 15 mereasing, then it means:

WWW.VirtualAcademylLive.com

A ase select your correct optia
The product i i unstable condihon

The product 15 i stable condibion.

The product 15 ready for shipment

Mone of the given.

’ YNade by: Yy/aqar Siddhu

CQuestion No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

Fask Analyeis and management invelves addressing the Follovang concemns except:

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

What change might cauzge the nsk to strke 7

e

What thing may go wrotyg m hafure 7

What can happen of the web mterface of the company’s webste wall change 7 >

What 15 the nature of software domain 7

’ YNade by: Yy/aqar Siddhu




Cuestion Mo : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

Two tools for computing entical path and project completion times Fom actvity networks are

o o —— WWW.VirtualAcademyLlive.com

P and PERT
r

DEE and 5CA

FPand LOC

ASTr and BSD
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Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

We can melude followmng tems dunng conBgurabon item dentificahon

WWW.VirtualAcademylLive.com

Tzer Manuals and Documentations

Source Code

Software Bequirsment Specifications

Al of the gven ophons

’ YNade by: Yy/aqar Siddhu

Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

Although there 15 no mdustry standard for Eelease Mumbenng, typically, a field compound number 15 ueed

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

1

e

2%
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Question Mo : 18 of 52 Marks: 1 {Budgeted Time 1 Min)

Change Eequest 15 submuited by the

T —— WWW.VirtualAcademylLive.com

Tester

Dreveloper

~ Clent

Mone of the given options
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CQuestion No : 19 of 52 Marks: 1 {Budgeted Time 1 Min)

The management of creeping requirements 15 mmportant For the eaze of

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Mamtenance

Drevelopment

Testing

Al of the gven ophons

" YNade by: YWaqar Siddhe

Question No : 20 of 52 Marks: 1 {Budgeted Time 1 Min)

Begquoement management consists of the phase(s)

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Requirement ebcitabon

Bequrement orgameation

Eequrement documentation

—

-

Al of the gven ophons )
e
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Question No : 21 of 52 Marks: 1 {Budgeted Time 1 Min)

While assessmng a legacy system for further decision, one should decide the following about the supplier

T —— WWW.VirtualAcademylLive.com

Iz suppler stll in existence?

Is suppler shll in business?

Tz suppher can prowde support?

o 4) YDade by: YW/aqar Siddhe

Question No : 22 of 52 Marks: 1 {Budgeted Time 1 Min)

Follownng factors should be considered while assessing the legacy system except

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Age of hardware and software

Falare rate

Support regurernent

[ 3
one of the given options

YNade by: Yy/aqar Siddh

Question No : 23 of 52 Marks: 1 {Budgeted Time 1 Min)

15 the process of Design recovery. At this stage the documentation of the overall Finchionality 1= created

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Dratabase Engmeenng
g
———
Eeverse Engineerng >
Eefactonng
ps
Forward Engneenng
r .
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Question No : 24 of 52 Marks: 1 {Budgeted Time 1 Min)

The need for busmess process re-engmeenng amves because the

— WWW.VirtualAcademylLive.com

Way to conduct business changss
T

Income of the company increases

Company want to become popular

Way of programmmg changes vith tme

" YNade by: YWaqar Siddhe

Question No : 25 of 52 Marks: 1 {Budgeted Time 1 Min)

If you Bind the code such that one type of change requires changing one subset of method, another type of change requires changing another subset then it 15 a symptom of

e WWW.VirtualAcademyLive.com

Divergent change
Duplicated code
P
Large class
pa
Lazy class
“ de by: idd
YDade by: Yy/aqar Siddhy
Question No : 26 of 52 Marks: 1 {Budgeted Time 1 Min)
With a complex class you have to move data and methods around m small prieces to avoid errors, it seems slow but it 15 the i because youaveld debugging

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

e 2

Problem

Mone of the given cphions

Slowest
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Question No : 27 of 52

Marks: 1 {Budgeted Time 1 Min)

Answer | Please select your correct option )

mtegrates system and software discipbnes mto single process improvement Famework for mtroducing new disciplines as needs anse

WWW.VirtualAcademylLive.com

IS0
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Question No : 28 of 52

Marks: 1 {Budgeted Time 1 Min)

Lewel i the hughest capabaity level of M

Answer | Please select your cormrect option )

WWW.VirtualAcademylLive.com
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A

-
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Question No : 29 of 52

Marks: 1 {Budgeted Time 1 Min)

Answer | Please select your cormrect option )

Lewvel 15 the lowest capability level of CIIMI in Continuous representation

WWW.VirtualAcademylLive.com
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o
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Question No : 30 of 52 Marks: 1 {Budgeted Time 1 Min)

The processes at of ChM focus on continually wnproving process performance through beth meremental and nnovabve technolegcal changesfimprovements

your correct option ) WWW.VirtualACademVLive.Com

Lewel 1
P
Level 4
pe
Level 3
‘ YNade by: YYaqar Siddh
Question No : 31 of 52 Marks: 1 {Budgeted Time 1 Min)

Ouanbtatve process-mmprovement objectives for the orgaruzation are established, contmually rewsed to reflect changmg business objectives at TV

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Level 3

Lewel 2

: i
C Level 5 )
.

Lewel 1
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Question No : 32 of 52 Marks: 1 {Budgeted Time 1 Min)

Following are the components of a Legacy system except

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Business processes

System hardware

Applcation software

‘ YNade by: YWaqar Siddhe




Question No : 33 of 52 Marks: 1 {Budgeted Time 1 Min)

In which stage of software dewelopment loop, we try to find the solution of the problem on techmeal grounds and base our actual implementation on it

-

Technical Development )
Mh—__

Technical Design

g T gy WWW.VirtualAcademylLive.com

Implementation

Testing

" YNade by: YWaqar Siddhe

Question No : M of 52 Marks: 1 {Budgeted Time 1 Min)

Whach of the followang 12 not one of the charactenstics to degcnbe a KEPAT

WWW.VirtualAcademylLive.com

Resources
Zoalz
.
Artvhes
ps
Computments
C L ]
YNade by: YYaqar Siddhe
Question No : 35 of 52 Marks: 1 {Budgeted Time 1 Min)

Spiral Model was Brst proposed by

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

McCabe

F
Barry BEoehm

Eobert Cazeman

Wilham Smuth

‘ YNade by: YWaqar Siddhe




Question No : 36 of 52 Marks: 1 {Budgeted Time 1 Min)

Whach of the following 15 IOT one of the 5 steps defined by Reel to mmprove the chances of success?

i P ol o oo WWW.VirtualAcademyLive.com

Start on the nght foot
o
Mamtain mementum
'
ake smart decisions
ps
Ciptirize Product page 35
L ]
YNade by: Yy aqar Siddhe
Question No : 37 of 52 Marks: 1 {Budgeted Time 1 Min)

Software project management primardy deals with metrics related to

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Development process

Diefects

Availability

Productmity and quality

YNade by: Yy/aqar Siddh

Question No : 38 of 52 Marks: 1 {Budgeted Time 1 Min)

In context of degree of rigor, TS stands for

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Task set selector

Tasks set i schedule

Tune set selector

Time setin schedule
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Question No : 39 of 52 Marks: 1 {Budgeted Time 1 Min)

In the potential for new technology or new business 1dea s explored

e —— WWW.VirtualAcademylLive.com

Concept proofing project

Concept mnplementation project

s i
{ Concept development pr@ject)
T ——

Concept scoping project

" YNade by: YWaqar Siddhe

Question No : 40 of 52 Marks: 1 {Budgeted Time 1 Min)

When more than one users mterpret the same requirement in different ways then we can say that the requrement 15

Answer | Please select your cormrect option ) WWW-Vi rtua IAcademyLiVE.Com

Thambiguots

Incomplete

Incorrect

— YNade by: Yy/aqar Siddhu

Question No : 41 of 52 Marks: 2 {Budgeted Time 4 Min)

In context of software configurahon management (SCM), SCI stands for?

IAnswer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

B e e R N ) [Tﬁ“u'&"gi
JI:'....,| ﬂ| F dl ; _I o J “I = = ._| =

g
|

Software configuration Item (SCI)
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Question No : 42 of 52 Marks: 2 {Budgeted Time 4 Min)

Is it effective to assign a release number to each and every release?

Answer ( Please click here to Add Answer ) WWW.VirtuaIAcademVLive.Com
_I_? | é [}__1 b cEnL I_‘ - | A | P, [ | [?:] 100% v”
Jhicremal == =l i EE = e

Yes it is effective

o YNade by: YYaqar Siddh

Question No : 43 of 52 Marks: 2 {Budgeted Time 4 Min)

In context of code refactorng, what 13 meant by the term “Bad smell”

Answer ( Please click here 1o Add Answer ) www.VirtualAcademyLiVE.Com
|!' ﬁ 'L: é [ﬁ 1 ii_’.I = E | “ | I‘ilr " fal |E1:] 100% 'v”
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The philosophy i= simple: “if it stinks, change ™.

" YNade by: YWaqar Siddhe

Question No : 44 of 52 Marks: 2 {Budgeted Time 4 Min)

List at lzast two Eactors that vou will consider when selecting the software development bfe cycle model

Answer | Please click here to Add Answer | www.VirtualAcademyLiVE.Com
B A e A = e W AR ||‘j:] 1|:||:|f-,-=.--|
== ~][= =le e rgillEE==E s
Size of project
stability of project
focation of project team
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Question No : 44 of 52 Marks: 2 {Budgeted Time 4 Min)

List at least two factors that vou will consider when selecting the soffware dewvelopment hfe cycle model

newor {Pioaso clik tors o AG4 Ancier WWW.VirtualAcademyLlive.com

Cehan] R A E L AR o S
e | =l e Ei[EE
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size of project
steaablty of project
location of project team

o YNade by: YYaqar Siddh

Question No : 45 of 52 Marks: J {Budgeted Time & Min)

“Software configurabon management 12 a design actvity”. Do you agree or not? Prowide at least one reason to support your answer

Answer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

Mo S R e e A -rnu%-lj
[hicrmmi =][= =2 AN EiiES

=-——|—J ==

No .because js defined by ChM, the purpose of SCM iz to establish and matntain the integrity or software products through
the project’ & life cycle.

" YNade by: YWaqar Siddhe

Question No : 45 of 52 Marks: J {Budgeted Time & Min)

“Software configurabon management 12 a design actvity”. Do you agree or not? Prowide at least one reason to support your answer

Answer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

Mo S R e e A -rnu%-lj
[hicrmmi =][= =2 AN EiiES

=-——|—J ==

As defined by CMNML the purpose of SCM is to establish and maintain the integrity or
software produocts through the project’s life evele.

4 YNade by: YWaqar Siddhe




Question No : 46 of 52 Marks: 3 {Budgeted Time & Min)

Mention the stuations when you think that it 15 appropnate to scrap a legacy system completely

newor {Pioaso clik tors o AG4 Ancier WWW.VirtualAcademyLlive.com

Cehan] s R e s ]E L A ) T S
e | =l e Ei[EE

;.=|—J ==

As defined by CMAL the purpose of SCM is to establish and mamtain the imtegrity or
software products through the project’s life cyele.

YNade by: YWaqar Siddhe

Marks: J {Budgeted Time & Min)

4]
Question No : 4T of 52

Wiite down charactenstics (at least Two) of the processes at T lewel-1

Answer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

Mo S R e e A -rnu%-lj
[hicrmmi =][= =2 AN EiiES

=-——|—J ==

Ad-hoc

Tt is characteristic of processes at this level that they are Qypically) undocumented and in Hg jg ;_]"' Em} gﬁg::g imﬁg : Eg EI:SEEF’SES

ast ing 1o iven i ad hoe, unc 2 it

astate of dynamic change, 1en::{ n% 1o b dr ‘:’E‘::l ]lf]. an " un qmrolhr-d anc.i reachve [10:40-35 PM] GulZaib Amjed- 3-incomplete design
manner by users or events. This provides a chaotic or unsiable environment for the [10:40-46 PM) GulZaib Amjed: 4-incomplete requirment
proceszes.

YNade by: YY/aqar Siddhu

Marks: J {Budgeted Time & Min)

ki
Question No : 4T of 52

Wiite down charactenstics (at least Two) of the processes at T lewel-1

Answer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

T BRSR] o e[S [ e ]
[hicrmmi =][= =2 AN EiiES

Ad-boe:

- IO Processes

no model

incomplete design
[4-incomplete requirment
known as initial level

=-——|—J ==

YNade by: YY/aqar Siddhu




Question No : 48 of 52 Marks: 3 {Budgeted Time & Min)

Suppose m an apphcation, an ILF or EIF 15 used m four processes, then how much we will count for that ILF or EIF7 Also prowde reason

[newor ( Ploase chk hiars to Add Amewor) WWW.VirtualAcademyLlive.com
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There are two types of
rules:
« « [dentification rules
« « Complexity and
contribution rules

o YNade by: YYaqar Siddh

Question No : 48 of 52 Marks: J {Budgeted Time & Min)

Suppose m an applhcaton, an ILF or EIF 15 used m four processes, then how much we will count for that ILF or EIF? Also prowde reason

IAnswer  Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

% e e R e A e R -H
[hicremal =][= =2 AN EiiES

=-——|—J ==

The ILF and EIF counting procedures include the following two activities:

1) Identify the ILFs and ElFs.

2) Determine the ILF or EIF complexity and their contribution to the unadjusted function
point count. ILF and EIF counting rules are used for each activity.

" YNade by: YWaqar Siddhe

Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

List the steps of software reengmeering process mode]

MWote: just hst the steps, do not provide internal detads

IAnswer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

CTElan| e
[irmai ﬂ| ;
Endi ing hnnln_ry
DCrata Documant
restructuring restructuring

E A, YNade by: Vy/aqar Siddhe




Cuestion No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)

List some (at least three) of the artfacts related to software testing, that can be treated as software configuration item (SCT)

Answor {Ploase clck bers to Add Anewor WWW.VirtualAcademyLive.com
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Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)

Why Long method 15 consaidered to be a bad smell in code? Explan briefly

Answer ( Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

SR R s e E SR T =]
|Hisemmi B2 BT == Flim i]I E== -f|:—; iEiE
int long_function()]
We have already seen example of duplicate code. We now look at another simple 1
example of long method. Although, in this case, the code is not really long, it however int part_1(}{
demonsirates how longer segments of code can be broken into smaller and more vl
manageable (may be more reusable as well) code segments. int part_2(}{
.
int 3rd_part(}]
de by: idd
ONade by: Yagar Siddhe
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Question No : 52 of 52 Marks: 5 (Budgeted Time 10 Min)

Mermally “Cost” and "Efficiency” conflict with each other, where as “Efficiency” and "user fiendly nterface”™ conflict with each other. Mow, for an ar traffic control system, which requirement will be a
major concern for you and why?

Answer [ Please click here 1o Add Answer | WWW.VirtualAcademyLive.com
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